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3-88. See below:

a=x?+3x+2
bo=6r+15
c.=22+x—6

32y +Tx+y—4
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3-90. (x+ 8)(x +3) =x2+ 11x + 24
3-91. See below:

ax=-475

b.x=-94

cxx114

da=22
3-92. See below:

a. 155%

by

cx®
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3-93. 1500 — 35x = 915; x =17 weeks
3-94. See below:
a_Using side 4B as the base, Area A= 4 b = £ (5)(6) = 15 square units
b. 4'(-8. 4), B'(-8,-1), and C'(-2, 0)
c. B"(—4,-1)
d.A"(4,-8)
3-95. See below:

a. It should be a triangle with a horizontal base of length 4 and a vertical base of length 3_

c. Any equation of the form y =~ x + 5.




